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NO. 107 20. 000 10.1]  10.10]  202.0 PREY ELE | TFHiES. Om
NO. 108 20. 000 10.2|  10.15] 203.0 18.2x8.0=145.6m’
NO. 108 +  3.370] 3.370 10.1|  10.15)  34.2
NO. 109 16. 630 9.7 9.90]  164.6
NO. 110 20. 000 10.7|  10.20]  204.0
NO. 111 20. 000 10.2|  10.45]  209.0
NO. 111 + 18.481] 18.481 9.9|  10.05] 185.7
NO. 112 1.519 10.0 9.95|  15.1
NO. 112 +  9.500] 9.500 10.1|  10.05)  95.5

2\ &t 249.500 m 2353.0

thRER Y & LVED 145.6

& &t 249.500 m 2498.6 m’




Al T I &% 2 5 & =&
- Aom Bk L (B<2.5) AR+ (2. 5<B<4.0) BRRBEE (4.0=B)

BB oE | F | B | E|FY| KE | E|FY| E

NO. 96 + 13.300

NO. 97 6. 700

NO. 98 20. 000

NO. 99 20. 000

NO. 100 20. 000 1.4

NO. 101 20. 000 1.4] 140  28.0

NO. 102 20. 000 1.3 1.3 270

NO. 103 20. 000 0.3] 015 3.0 0.6 0.30 6.0 0.8/ 1.0 210

NO. 104 20. 000 0. 15 3.0 0.5] 055 110 1.6] 1200 240

NO. 104 + 8.258] 8.258 0.3] 015 1.2 0.4  0.45 3.7 1.6]  1.60[ 132

NO. 105 11.742 0. 15 1.8 0.7]  0.55 6.5 1.2] 140 164

NO. 106 20. 000 0.4 055 110 1.6  1.40]  28.0

NO. 107 20. 000 0.7] 08 110 1.6]  1.60[ 320

NO. 108 20. 000 0.7] 070 140 1.6]  1.60[ 320

NO. 108 + 3.370| 3.370 0.8 0.75 2.5 1.6  1.60 5.4

NO. 109 16. 630 0.1  0.45 7.5 1.6]  1.60] 266

NO. 110 20. 000 0. 05 1.0 0.80  16.0

NO. 111 20. 000 0.6 0.30 6.0 0.1 0. 05 1.0

NO. 111 + 18.481 18.481 0. 30 5.5 1.0 085 102

NO. 112 1.519 0.9] 0.9 1.4

NO. 112 + 9.500( 9.500 0.5 0.70 6.7

NO. 113 10. 500

NO. 114 20. 000

NO. 115 20. 000

& 249.500 m 20.5 n’ 74.2 288.9




A4 T I # = 5 E E
A & =1 fe] - HE#ET (B<2.5) SERT (2.5=<B<4.0) SEET (4.0=B)

iz} B W m E O H = [E1] E OB H = W m E OB #H =
NO. 96 + 13.300
NO. 97 6.700
NO. 98 20. 000
NO. 99 20. 000
NO. 100 20. 000 0.2 0.2 0.7
NO. 101 20. 000 0.2 0.20 4.0 0.2 0.20 4.0 0.7 0.70 14.0
NO. 102 20. 000 0.2 0.20 4.0 0.2 0.20 4.0 0.7 0.70 14.0
NO. 103 20. 000 0.2 0.20 4.0 0.2 0.20 4.0 0.7 0.70 14.0
NO. 104 20. 000 0.2 0.20 4.0 0.2 0.20 4.0 0.7 0.70 14.0
NO. 104 + 8.258 8.258 0.2 0.20 1.7 0.2 0.20 1.7 0.7 0.70 5.8
NO. 105 11. 742 0.2 0.20 2.3 0.2 0.20 2.3 1.2 0.95 11.2
NO. 106 20. 000 0.10 2.0 0.3 0.25 5.0 0.8 1.00 20.0
NO. 107 20. 000 0.2 0.10 2.0 0.2 0.25 5.0 0.7 0.75 15.0
NO. 108 20. 000 0.2 0.20 4.0 0.2 0.20 4.0 0.7 0.70 14.0
NO. 108 + 3.370 3.370 0.2 0.20 0.7 0.2 0.20 0.7 0.7 0.70 2.4
NO. 109 16. 630 0.2 0.20 3.3 0.2 0.20 3.3 0.7 0.70 11.6
NO. 110 20. 000 0.7 0.45 9.0 0.10 2.0 0.35 7.0
NO. 111 20. 000 0.2 0.45 9.0 0.2 0.10 2.0 0.1 0. 05 1.0
NO. 111 + 18.481 18. 481 0.2 0.20 3.7 0.2 0.20 3.7 0.7 0.40 1.4
NO. 112 1.519 0.2 0.20 0.3 0.2 0.20 0.3 0.7 0.70 1.1
NO. 112 + 9.500 9.500 0.4 0.30 2.9 0.2 0.20 1.9 0.4 0.55 5.2
NO. 113 10. 500
NO. 114 20. 000
NO. 115 20. 000

& i 249.500 m 56. 9 m° 47.9 157.7 i




A4 f T M & it B B
- Aom | BEEL B<2.5) BBt (2. 5<B<4.0) BAEEL (4. 0=B)
BB WoE | F | % E | E|Fy| HE | E|FEY| K E
NO. 96 + 13.300
NO. 97 6. 700
NO. 98 20. 000
NO. 99 20. 000
NO. 100 20. 000 0.4
NO. 101 20. 000 0.4 0. 40 8.0
NO. 102 20. 000 0.4 0. 40 8.0
NO. 103 20. 000 0.4 0. 40 8.0
NO. 104 20. 000 0.4 0. 40 8.0
NO. 104 +  8.258] 8258 0.4 0. 40 3.3
NO. 105 11.742 0.4 0.40] 47
NO. 106 20. 000 0.5 0. 45 9.0
NO. 107 20. 000 0.5 0.50] 10.0
NO. 108 20. 000 0.5 0.50] 10.0
NO. 108 + 3.370] 3.370 0.5 0. 50 1.7
NO. 109 16. 630 0.5 0. 50 8.3
NO. 110 20. 000 0. 25 5.0
NO. 111 20. 000 0.4 0.200 4.0
NO. 111 + 18.481] 18.481 0.4 0. 40 7.4
NO. 112 1.519 0.4 0.40f 0.6
NO. 112 +  9.500] 9.500 0.4 0. 40 3.8
NO. 113 10. 500
NO. 114 20. 000
NO. 115 20. 000
& 249.500 m 99. 8 n’




Gk + I % B # & B
a5 R M & ket (B<2.5)
BB Wi m | F ¥ BE | W E|FH| BE WA FH g
NO. 96 + 13.300
NO. 97 6. 700
NO. 98 20. 000
NO. 99 20. 000
NO. 100 20. 000 0.3
NO. 101 20. 000 0.3 0.30 6.0
NO. 102 20. 000 0.3 0.30 6.0
NO. 103 20. 000 0.15 3.0
NO. 104 20. 000 0.3 0.15 3.0
NO. 104 +  8.258] 8.258 0.3 0.30 2.5
NO. 105 11.742 0.3 0.30 3.5
NO. 106 20. 000 0.3 0.30 6.0
NO. 107 20. 000 0.3 0.30 6.0
NO. 108 20. 000 0.3 0.30 6.0
NO. 108 +  3.370] 3.370 0.3 0.30 1.0
NO. 109 16. 630 0.3 0.30 5.0
NO. 110 20. 000 0.3 0.30 6.0
NO. 111 20. 000 0.3 0.30 6.0
NO. 111 + 18.481] 18.481 0.3 0.30 5.5
NO. 112 1.519 0.3 0.30 0.5
NO. 112 +  9.500] 9.500 0.3 0.30 2.9
NO. 113 10. 500
NO. 114 20. 000
NO. 115 20. 000
& § 249.500 m 68.9 m’




BE B2 I £ ¥ xx I % BH =
B E i i
g Al | Al + g BA ST B E FLBE &
3] =4 th g &
|7
FRYE TR m’ 122.10 122. 1 120 | (N)
TR TR m’ 122.1 120 | (N)
B R
HBE(1.0SW<4.0) T8 m 30. 40 30.4 30 | (C)
HEW<1.0) TR m’ 40. 00 40. 0 40 | (C)
BEAL T m 93.9 90 | (L)
EEEE T m? 56. 50 56.5 60




4 BE B I £ ¥ £ I H%H E i #H £
. =1 Ao . KRiE (#) HRJA.0=W<4.0) HREWN<1.0)
b E = — — —
i) B B m E oY #H = BT m E oY H = B m E oY # =

NO. 96 + 13.600
NO. 97 6. 400
NO. 98 20. 000
NO. 99 20. 000
NO. 100 20. 000
NO. 101 20. 000
NO. 102 20. 000
NO. 103 20. 000
NO. 103 + 13.100 13.100 2.0 0.9
NO. 104 6. 900 1.8 1.90 13.1 0.8 0.85 5.9
NO. 104 + 3.100 3.100 1.8 1.80 5.6 0.8 0. 80 2.5
NO. 104 + 8. 258 5.158
NO. 105 11. 742
NO. 106 20. 000
NO. 107 20. 000
NO. 108 20. 000
NO. 108 + 3.370 3.370
NO. 108 + 11.200 7.830 2.0 0.9
NO. 109 8. 800 2.1 2.05 18.0 0.9 0.90 7.9
NO. 110 20. 000 3.4 2.75 55.0 1.9 0.95 19.0 0.9 0.90 18.0
NO. 110 + 9.500 9.500 3.0 3.20 30. 4 0.5 1.20 11.4 0.3 0. 60 5.7

=1 g 48.300 m 122. 1 30.4 n® 40.0 n?




=4 BE B2 T {4 ¥ X I #H%H 2 i #E
a5 =1 Jﬁ_sﬁ - = EmEEIE (:t@)‘ _ _ _
i) B B m FE OB #H = BT m E oY # = m| F 15 =
NO. 96 + 13.600
NO. 97 6. 400
NO. 98 20. 000
NO. 99 20. 000
NO. 100 20. 000
NO. 101 20. 000
NO. 102 20. 000
NO. 103 20. 000
NO. 103 + 13.100 13.100 1.2
NO. 104 6. 900 1.2 1.20 8.3
NO. 104 + 3.100 3.100 1. 1.20 3.7
NO. 104 + 8. 258 5.158
NO. 105 11. 742
NO. 106 20. 000
NO. 107 20. 000
NO. 108 20. 000
NO. 108 + 3.370 3.370
NO. 108 + 11.200 7.830 1.3
NO. 109 8. 800 1.2 1.25 11.0
NO. 110 20. 000 1.1 1.15 23.0
NO. 110 + 9.500 9.500 1.1 1.10 10.5
=1 g 48.300 m 56.5 n?




WG/ IT BRI HEREZX

Al B O® By (1B8EE(E) 1 SEERE) |35 HER(E) (35 5E(R) a &t FrE#E &

a2 9 ) — kM ock=18N/mm2 m° 32.82 32.82 4%
i ¥r| 8, H4m m? 108.10 108.10 108
oA A B ffggifﬁmmmu? m? 4427 4427 44
Ri5 (BEEM)| 8|H, HGm #m? - - -

BB (##)| EH HAGm Hhm? — — —

=] #| t=10mm m? 3.3 3.3 3
KikE /N AT VP-65 m 5.5 5.5 6
iz & m 37.23 37.23 37




1 5 ¥ = #®EHEE A
EHE (1.0m%7=Y)
30
_Q‘ A A wEE oo—H En | REERE R EE )2 B0)
(BfE)
V) —k(0,,=18N/mm? [NO. 16 + 14.78
NO. 16+ 18.28
NO. 17
NO. 17+ 1150
NO. 17 + 17.87
T NO. 18
NO. 18+ 17.46
NO. 19
NO. 19+ 11.60
NO. 19+ 15.00
NO. 19+ 17.05
§ I \ I NO. 20
NO. 20+ 1000/ 1.39 0.90 2.94 1.20
\ BAEREERAEEIOmMmLLTF) [NO. 20+ 16.62] 1.39 0.90 2.94 1.20
JJ NO. 21 1.39 0.90 2.94 1.20
149 B 100 NO. 21+ 470
' NO. 21+ 573
NO. 21+ 16.20
avs)—k = 1/2x(03+B) XH (m°) NO. 21+ 1952
g oA = Hx(1+1.118) (m?)
BaERE =  (B+0.2) (m?)
RBiG(HE) = Hx1.118 (Hm?)
BiG(#4E) = H (Hhm?)




1 B BE B #®EHEE o1
EHE (1.0m%7=Y)
300
_‘\ B A gEEE hooy—H g RER (215 (HE) RIS(H4A)
(BHLE)
a1 —k (0 ,=18N/mm?) [NO. 25+ 1040 1.35 0.86 2.86 1.18
NO. 25+ 1569] 1.39 0.90 2.94 1.20
NO. 26 1.38 0.89 2.92 1.19
NO. 26+ 1360 1.35 0.86 2.86 1.18
T NO. 27+ 148] 1.34 0.85 2.84 117
NO. 27+ 550 1.33 0.84 2.82 117
NO. 27+ 16.14
NO. 28
NO. 28+ 14.92
NO. 28+ 1647
S NO. 29
N L | NO. 29+ 750
\ BREER (BERAZE4OmmET) NO. 29 + 1070
do B ‘ 100 NO. 29+ 16.70
' L NO. 30
NO. 30+ 17.11
avo)—k = 1/2x(03+B) XH (m®) NO. 31
Eil A = Hx(1+1.118) (m?) NO. 31+ 578
AR = (B+0.2) (m?) NO. 31+ 1285
BB (BEE) = Hx1.118 (Hhm?) NO. 31+ 17.39
BiIE#E) = H (Hhm?) NO. 32
NO. 32+ 765




Jj
3
H | Hﬁ#
| [
e
E'IE
Y
It
o}

o a | mEs Y oHy — k B B E R
BB | (m) | B T 1 w2 BoE | T w2 T EEE
HE)

NO 16 + 14.78

NO 16 + 18.28 3.94

NO 17 1.62

NO 17 + 11.50 11.36

NO 17 + 17.87 6.43

NO 18 1.97
NO 18 + 17.46 17.44
NO 19 2.32

NO 19 + 11.60 11.47

NO 19 + 15.00 3.36

NO 19 + 17.05 2.25

NO 20 2.69

NO 20 + 10.00 9.88 1.39 0.90 2.94 1.20

NO 20 + 16.62 6.82 1.39 0.90 0.900 6.14 2.94 2.940 20.05 1.20 1.200 8.18
NO 21 3.06 1.39 0.90 0.900 2.75 2.94 2.940 9.00 1.20 1.200 3.67
NO 21 + 470 4.95

NO 21 + 573 0.72

NO 21 + 16.20 10.68

NO 21 + 19.52 3.17

N E 9.88 m 8.89 m° 29.05 m” 11.85 m’




= =09 =
5 BE E HEFEE a
. A M| mEs av sy —¢+ B BOREOE R
J =
BB (m) Br m E i # = Wy m E e Wy m E =
NO 25 + 1040 1.35 0.86 2.86 1.18
NO 25 + 1569 4.82 1.39 0.90 0.880 4.24 2.94 2.900 13.98 1.20 1.190 5.74
NO 26 4.83 1.38 0.89 0.895 4.32 2.92 2.930 14.15 1.19 1.195 5.77
NO 26 + 1360] 13.68 1.35 0.86 0.875 11.97 2.86 2.890 39.54 1.18 1.185 16.21
NO 27 + 148 1.34 0.85 2.84 117
NO 27 + 550 4.02 1.33 0.84 0.845 3.40 2.82 2.830 11.38 117 1.170 4.70
N E 27.35 m 23.93 m° 79.05 m? 32.42 m®
B ih 32.82%1/10=_ 33 m” [/K$r=/81F32.82%1/6= 55 m
& & 3723 m 32.82 m° 108.10 m? 44.27 m®




K B T 4 ¥ £ T & 5 %

B A Al + B Bifif % B B BE | FLEBE (&
Efl a4l AR
K &
Al FRYE TR m
Al PRYE T8 m° 95.10 58. 20 153.3 150 | (N)
TR T8 m° 153.3 150 | (N)
# R
| EBRMW<1.0) T8 m°
AHA| ERW<1.0) +7 m’ 59. 70 32.30 92.0 9 | (C)
BAL 1 m° 122.7 120 | (L)
EEEIE
Z T8 m?
= ) m 86. 00 37.40 123.4 120




A4 (Z 1) K B I £ %2 + I #H & 5 & =
. =1 M. RIE (£8) HEW<1.0) HEEEE (#)
B =1 b =

B B Wr m B # = Wr m ST B = Br m ST # =2
NO. 96 + 13.600
NO. 97 6. 400
NO. 98 20. 000
NO. 99 20. 000
NO. 100 20. 000 0.6 0.4 0.5
NO. 101 20. 000 0.7 0. 65 13.0 0.4 0.40 8.0 0.5 0.50 10.0
NO. 102 20. 000 0.7 0.70 14.0 0.4 0.40 8.0 0.5 0.50 10.0
NO. 103 20. 000 0.6 0. 65 13.0 0.4 0.40 8.0 0.5 0.50 10.0
NO. 104 20. 000 0.4 0.50 10.0 0.4 0.40 8.0 0.5 0.50 10.0
NO. 104 + 8. 258 8. 258 0.3 0.35 2.9 0.2 0.30 2.5 0.5 0.50 4.1
NO. 105 11. 742 0.15 1.8 0.10 1.2 0.25 2.9
NO. 106 20. 000
NO. 107 20. 000
NO. 108 20. 000
NO. 108 + 3. 370 3.370
NO. 109 16. 630 0.4 0.20 3.3 0.2 0.10 1.7 0.5 0.25 4.2
NO. 110 20. 000 0.7 0.55 11.0 0.4 0.30 6.0 0.5 0.50 10.0
NO. 111 20. 000 0.6 0. 65 13.0 0.4 0.40 8.0 0.5 0.50 10.0
NO. 111 + 18. 481 18. 481 0.5 0.55 10. 2 0.2 0.30 5.5 0.5 0.50 9.2
NO. 112 1.519 0.2 0.35 0.5 0.3 0.25 0.4 0.5 0.50 0.8
NO. 112 + 9.500 9.500 0.3 0.25 2.4 0.2 0.25 2.4 0.5 0.50 4.8
NO. 113 10. 500
NO. 114 20. 000
NO. 115 20. 000

=) 5 249. 500 m 95. 1t 59. 7 mé 86. 0 m?




A4 () XK B I £ £ £ I % 2 i & =
A & =1 i - = RIE (L7) HEW<1.0) HEEEF (£8#)
BB B BT M| OB # =2 Br @ E OB # = BT M@ E OB # =
NO. 96 + 13.600
NO. 97 6. 400
NO. 98 20. 000
NO. 99 20. 000
NO. 100 20. 000
NO. 101 20. 000
NO. 102 20. 000
NO. 103 20. 000
NO. 103 + 13.100 13.100 0.6
NO. 104 6. 900 0.6 0.60 4.1
NO. 104 + 3.100 3.100 0.6 0.60 1.9
NO. 104 + 8.258 5.158
NO. 105 11. 742
NO. 106 20. 000
NO. 107 20. 000
NO. 108 20. 000
NO. 108 + 3.370 3.370
NO. 108 + 11.200 7.830 0.5
NO. 109 8.800 0.5 0.50 4.4
NO. 110 20. 000 3.4 1.70 34.0 1.9 0.95 19.0 1.2 0.85 17.0
NO. 110 + 9. 500 9. 500 1.7 2.55 24.2 0.9 1. 40 13.3 0.9 1.05 10.0
= 5 48.300 m 58.2 n? 32.3m? 37. 4 n?




B KB I HBEBIER

&1 - B R O® BT B E fFLEHE g %
TLF v AUREIE
U=Fi#(B300 x H300) m 24513 245
PUfEI#E 300%300 & 16.50 17 10.0m% Y
BEEILZIL m2 0.09 0.1 10.0m% Y
BaER BARARAOMmMUT || m2 5.00 5 10.0mZ Y
15 URIKEE 300%300 m 9.88 10
avyl)—k 0 ck=18N/mm2 m3 1.80 2 10.0m% Y
iR e INEY T m2 18.00 18 10.0m&Y
BaER BARARAOMmMUT || m2 7.00 7 10.0mZ Y
B ih t=10mm m2 0.18 0.2 10.0m=Y)
3 URIKER 800%520 m 11.56 12
avyl)—k 0 ck=18N/mm2 m3 3.21 3 10.0m% Y
iR e INEY T m2 23.80 24 10.0m%Y
BaER BARAZR4AOMmUT || m2 12.00 12 10.0m=Y)
B ih t=10mm m2 0.32 0.3 10.0m=Y)
#BHLary)—N 0 ck=18N/mm2 m3 1.30 1 10.0m&Y
LB INEY T m2 1.20 1 10.1m%Y
580 D13 SD345 kg 195.02 195 102m¥%Y)
15 L8 KR 300%300 m 9.88 10
avy)—k 0 ck=18N/mm2 m3 1.13 1 10.0m% Y
iy ey INEY T m2 9.00 10.0m&Y
BaER BARARAOMmMUT || m2 5.00 10.0m% Y
B ih t=10mm m2 0.11 0.1 10.0m=Y)
45 L EIK K 800%500 m 27.35 27
avy)—k 0 ck=18N/mm2 m3 2.18 2 10.0m% Y
iR e INEY T m2 13.00 13 10.0m&Y
BaER BARAZR4AOMmUT || m2 10.00 10 10.0m=Y)
B ih t=10mm m2 0.22 0.2 10.0m=%Y)
15 KR m 11.56 12
avyl—k 0 ck=24N/mm2 m3 3.18 3.2 1.0 %Y
B 7] m2 17.23 17 1.0y
#&AH(D16) SD345 kg 249.70 250 1.0y
& (D13) SD345 kg 11.60 12 1.0y
XRI ZEm3 5.97 6 1.0y




U=F3%(300 x 300) M EIHESE
400
50 300 50
S | |
HEILZIL
R ERE
(B ERAERC-40)
100 300 100
500
( 10.0mZf=Y )
# B (B - = # =
P U f# &l @ [ =100-+06= 16.50
BEEIJLAI| m? | =003 x 0.30 X 10.0 = 0.09
B AR E | m? | =050 x 100= 5.00




U=F&(300 x 300) E K i

p: | =1 R-L T E T &
NO 98 17.57 NO 104 17.36
NO 99 19.18 NO 104 17.36 R 106.49
NO 105 10.38 NO 110 0.00
NO 105 10.38 NO 110 0.00 R 94.06
NO 114 5.55 NO 115 456
NO 110 9.38 NO 115 4.56 R 4458
NO 117 8.33 NO 125 9.41 mhd
NO 125 10.50 NO 125 1381 |
NO 116 261 NO 125 9.41 mhd
NO 125 10.50 NO 125 1381 |
NO 125 10.00

=) E 24513 m




185 UH& KK = (T HE £
600
150, 300 150 Qusy— R
(o ck=18N/mm2)
(=]
3 8
<t
3
T2
A o )
BAERAERC-40
50 600
700
( 10.0mZf=Y )
# B (B ;| # =
av 51—k m® | =(0060x045-0.30%0.30) x10.0= 1.800
i) | m? | = 045 x 4 x 100 = 18.00
B AR E | m? | =070 %x 100= 7.00
B o | m? | =3ars)—bk x 1/10 0.18




185 U® KK E R A E
MR R:L iE R & &
NO 16 + 1.79 NO 16 + 542 L
NO 20 + 1000 ~ NO 21 + 000 R 9.88
NO 19 + 1160 ~ NO 21 + 1952| R
a & 9.88 m




= =2 =
35 UR KK M EHESE
1100
150 800 150 12 EE
D13 ¢tc200
L2
avoy—=+
(o ok T8N/m2) /| 3
o 7 TH g 7
© g N oz &7 8«
o L1 £ =3
/
J L BEER
_ h '% —
(o ck=18N/mm2) P 402452980 : (BERRERCAD
HyLarvy—=4
100 1100 100
1300
EHE H=770(FRHxH=250%& #)
770-250=H=520(NZE =)
( 10.0m&f=Y )
M B |HAA =] = B =
a9 ) —K m* | =(1.10x0.67 - 0.80x0.52) x10.0= 3.210
i) | m?2 | = (067 x 2+052 x 2) X 100= 23.80
BB OE W m| =120 %x100= 12.00
B #h  #M| m? | =3v9)—k x1/10 0.32
HyLaroy—k m® | =(1.30%0.10) x 10.0= 1.30
9 L & #| m? | =(0.10%x2) x10.0= 1.20

% 7| ke | =(0.57%2+0.98) X 10.0/0.20+10.0 X 9) X 0.995= 195.0




35 UZE KK E K &R
pi | J=1 R-L TE K % =
NO 25 + 6.78 NO 25 + 1040 R 3.65
NO 26 + 13.60 NO 27 + 148 R 7.91
NO 29 + 10.70 NO 29 + 16.70 R
NO 32 + 765 NO 32 + 11.61 R
=) E 11.56 m




=

35 UH

K B

A

O

i

EfR

mE

No.
No.

25+6.78
25+10.40

3.65

0.901

3.29

No.
No.

26+13.60
27+1.48

1.91

0.897

7.10

No.
No.

29+10.70
29+16.70

6.03

No.
No.

32+7.65
32+11.01

4.00

No.
No.

No.
No.

No.
No.

No.
No.

No.
No.

No.
No.

No.
No.

No.
No.

No.
No.

No.
No.

11.56

10.39

10.39/11.56

0.90




15 K MR I

iHEE

Gl

1100

60 4x245=980

980

avy)—+F
(o okZ24N/m3) @DE@D]G @efnmxgso
ol © N\
ISREAF 3SURIKER ISRAEA b+
t=10mm t=10mm .
’ D13 ‘?
7([]‘137:!0:;5?500) 159 800 159
1100
@ 5-D16 X 1000
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( 1.0m%H=Y )
# B (B " = ®H =
a9 —k m® | =025 x11 x10= 0.275
Ein) Bl m?2 | =025 x 2+080= 1.30
im E OB O m? | =025 x 1.10 x 2= 0.55
#% # (D16)| kg | =(0.98x9+1.00%5)% 1.56 = 21.6
$% #F (D13)] kg | =050%2x0.995 = 10
¥ B I|lZm| = 080 x(H-025)= 0.8H




15 KR I E & &R
p: | =1 R-L T E T &
NO 25 + 6.78 NO 25 + 10.40 R 3.65
NO 26 + 13.60 NO 27 + 148 R 7.91
NO 29 + 10.70 NO 29 + 16.70 R
NO 32 + 7.64 NO 32 + 1161 R
=) E 11.56 m




5 K iR T

e

PR H SR iR
(0.8+(H-0.25) (1.3-1+0.55)
BE B (m) T F 1 % = F 1y % =
NO 25 6.780 0.905 0.52
NO 25 10400  3.65 0.897 0.52 0.520 1.90 530 [[arHU—k
= 0275 X 11.56= 318 m3
NO 26 13.600 0.903 0.52
NO 27 1480  7.91 0.891 0.51 0.515 407 10.83
0.55 % 2 1.10
NO 29 10.700 0.676
NO 29 16.700[  6.03 0.644 g #H(D16)
= 216 X 1156 = 249.7 kg
NO 32 7.650 0.576
NO 32 11610  4.00 0.592 g mH(D13)
=10 x 1156 = 116 kg
& &t 11.560 m 5.97 ze? 17.23 m?
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'Ol BO® Bif o= EHE
ERIE AE it

it & m 11.56 11.56 12
av ) —k 0 ck=24N/mm2 m3 3.18 3.18 3
i G % m2 17.23 17.23 17
% @ (D16) SD345A kg 249.7 249.7 250
% & (D13 SD345A kg 11.6 11.6 12
X (23 T ZZm2 5.97 5.97 6
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=500 S
ctch00 <
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450 50
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( 10.0mZ&f=Y )
Lo - - -Liv - = % =
A1) —Kk m® | =(0.45%0.45-0.30x0.30) X10.0= 1.125
Ein) ¥l m?2 | =045%x2x100= 9.000
HE B M| m?| =050 x 10.0= 5.000
= | m2 | = 1.125 x 1/10 = 0.113




1 5 L & K B T E 5 &

- =1 R-L T E T &
NO 16 + 076 ~ NO 17 + 291 L
NO 22 + 1390 ~ NO 27 + 840 L
NO 27 + 1262 ~ NO 30 + 1400 L
NO 5 + 263 ~ NO 4 + 1903 L BEEREH- PR
NO 20 + 1000 ~ NO 21 + 0.00 R 9.88
NO 18 + 1746 ~ NO 21 + 1952 R
NO 36 + 1280 ~ NO 38 + 480 R
NO 40 + 148 ~ NO 42 + 10.00 R
NO 42 + 1000 ~ NO 43 + 400 R

=) E 9.88 m
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( 10.0mZ&f=Y )
Lo - - -Liv - = % =
a4 1) —Kk m® | =00.95%0.65-0.80%0.50) X 10.0= 2175
Ein) ¥l m?2 | =065%2x100= 13.000
HE B M| m?| =100 x 10.0= 10.000
= | m2 | = 2175 x 1/10 = 0.218




4 5 L B K B E R A&

MR R-L iE R ® &
NO 22 + 177 ~ NO 25 + 6.78 R
NO 25 + 1040 ~ NO 26 + 13.60 R 23.33
NO 27 + 148 ~ NO 27 + 550 R 4.02
NO 27 + 550 ~ NO 29 + 750 R
NO 29 + 750 ~ NO 29 + 10.70 R
NO 29 + 1670 ~ NO 32 + 7.64 R
NO 32 + 1161 ~ NO 33 + 7.60 R

a8 & 27.35 m
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EERE mm 200 300 400 600

T R m 23.30 12.70 2.03 19.25

M = 10m3Y 10m3%Y 10m¥Y 10mZ%Y)

EHEa D) —HN ock=18N/mm2 || m3 0.47 0.81
BRI L m2 2.00 2.00
BaEER ﬁ&_ﬁ#gﬁggmm m2 4.70 8.10
BEEILZIL m3 0.05 0.10

EEE D300 L=2000 p:N

EEE D300 L=2000 p:N 5.0

EEE D400 L=2000 p:N

EEE D600 L=2000 p:N 5.0
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BEJLSIL
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ayvy)— FEED200 234 430
ayvy)— FEEDI0 2172 470
a4y — FE{EDA00 | 354 | 550
ayvy)— F&EEDE00 514 810
( 10.0mZ&f=Y )
Lo - - -Liv - = % =
& AKX % A | =1000/200 = 5.00
~ TT—
gﬁm:’:'” md | = 047 x 0.1 x 100 = 0.47
B £ & # m?2| =01x2 x 1000 = 2.0
B A E B m?)| =047 X 100 = 47
BEE LA m® | = 0272 x 002 x 100 = 0.05




aVo)—krEE (D300) £ & R &
- =1 R-L E K T &
NO 27 + 623 NO 27 14.62 L
NO 21 + 1952 NO 22 1.77 R
NO 25 + 1093 NO 25 14.61 R 12.70
NO 33 + 1201 NO 34 15.02 R
NO 43 + 477 NO 43 12.12 R
=) E 12.70 m




=0 =
avo)—kEE (D600) M EETHE E
BEJLZIL
&
S
3
T HLavyy—+r
b MR
A B A 1ERC-40)
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aUH ) — REFED200 | 234 | 430
aUH ) — REFED300 | 272 | 470
avy)— LEFEDA0 354 550
V41— R&FED600 | 514 | 810
( 10.0mZ&f=Y )
Lo - - -Liv - = % =
T X # X |=1000/200 = 5.00
~ | —
gﬁm:’:’” m3 | = 081 x 0.1 x 100 = 0.81
B £ & # m?2| =01x2 x 1000 = 2.0
B A E B m?)| =081 %100 = 8.1
BEE LA m® | = 0514 x 002 x 100 = 0.10




aVo)—kEfFE (D600) E K A &=
M R R-L E R ® &

NO 16 + 1.79 NO 16 + 542 L

NO 31 + 946 L

NO 31 + 946 L

NO 34 + 1152 L

NO 34 + 1152 L

NO 42 + 1215 L

NO 13 + 435 NO 13 + 13.05 R

NO 13 + 13.05 NO 14 + 1.40 R

NO 16 + 17.00 R

NO 22 fhk R 10.88

NO 26 + 9091 R 8.37

NO 32 + 0.0 R

NO 32 + 19.90 R

NO 38 + 527 R

NO 42 + 990 R
a8 & 19.25 m
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B A HE OB m? =130 x 060= 0.780
BEFE LAl m? [=120 x 050 x 0.02= 0.012
BRI AR BE K M| E 1.0
T O S I ¢ 1.0
*ﬁiﬁﬁ,‘;ﬁj“" B |=10 / 0605 = 165
BEEIJLAI| m? | =001 x 0230 X 1.0= 0.002
B A HE OB m? [=0280x1.0= 0.280




44 3 g, = =
15 4 £ # = B @ pr 5 &
HESEMA A R*L EHTE s &
NO. 43 {hk L
NO. 13 + 16.50 NO. 14 + 1863 R
NO. 16 + 1750 NO. 21 + 1460/ R 5
NO. 22 + 6.74 NO. 25 + 198| R 2
NO. 27 + 533 NO. 32 + 046| R 3
NO. 34 + 1502 NO. 43 + 187| R
=) E 10 & FRr
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# o |BEA " = ®H £
A s | = {1.20%0.20+1/2x(1.20 +1.17)x 0.5 +1.11 X 0.2} X

AYIU—=h | 'm 1.20 - 1/2%(1.05+1.02) X 0.5 X 0.80 = 0.851

() [ m® | = 0504 x0.2+(0.22X3.14X0.2) X2 -0.151

oV —hEE| m 0.700
= (1.20+1.11) x 1.20+{1.20 X 0.20+1/2 X (1.20+1.17) X

Eip o m2 [0.50+1.110 X 0.2} X 2+(1.135+1.110) X 0.5+1/2 X 7.124

(1.135+1.105) X 05x 2 =

(3Z%) = 0.504 x 2+(0.22 X 3.14) X 4 -1510

Bt o614

B AR E OB m|=1x13 = 1.30

H O®H M EH K 10

SEEERIOvy| @ [= 120 / 0605 = 1.98




4 5 H E # & E B Fr 58 &
HESEMA A R*L EHTE s &
NO. 16 + 17.00 R
NO. 22 + 720 R 1
NO. 26 + 10.00 R 1
NO. 32 + 0.0 R
NO. 33 + 0.0 R
NO. 38 + 500 R
=) E 2 &P
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- 5 | = {0.80%0.20+1/2 x ( 0.80 +0.77) X 0.40+0.71 X 0.2} X
AYIU=k | 'm 0.9 - 1/2 % (0.650+0.620) X 0.4 X 0.50 = 0.427
= (0.80+0.71) X 0.9+{0.80 X 0.20+1/2 x (0.80+0.77) x
Bl mZ2 10.4+0.71 X 0.2} x 2+(0.735+0.71) X 0.5+1/2 x (0.735+0.705) 3.890
X04X2 =
oA HE OB m?| =1x09 = 0.90
i o M E K 1.0
SRERRIT @ = 090 / 0605 = 1.49




5 5 #H & # B E @ fr A E
BREERAA R-L EHAr# T &
NO. 25 + 153 R 1
NO. 25 + 15.06 R 1
NO. 33 + 1156 R
NO. 34 + 1457 R
=] E 2 &R
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2 S5k 800 x 800 X 1600 || EFk
3 Bk 800 % 800 X 1000 | &FF
4 BE&EKH 600 X 600 x 880 || &Rk
5 B &EK#H 600 X 600 X 950 || EHFT
6 —15 5Kt 800 x 650 X 1050 || &Fk
6 —25 £k 800 X 800 x 450 || EFR
7 S &K 800 x 800 X 450 || EFR
8 -1 55k 800 % 800 X 1000 | 7T
8 25 &k 800 x 800 x 1000 | f&FR
8 -35 &Kkt 800 x 800 X 1000 || EFk 2 2
9 S5k 400 x 400 X 500 || EFRF
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~ 1] — AN
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i Bl m? [=(1.10%1.15+0.80 X 1.00) x 4 8.260

(4288) | m? | =(0.496+0.30 X 0.30 X 2) X 2 -1.352

B o2 a8 f m 6.908

B A E B m?|=120%x120 1.440




8-3 5 £ K #H H & @ fr A &
HEEMAA R-L ETRE B =
NO. 31 + 946 L
NO. 34 + 1152 L
NO. 16 + 17.00 R
NO. 22 + 1036 R 1
NO. 26 + 991 R 1
NO. 32 0.00 R
NO. 32 + 1990 R
NO. 38 + 527 R

& i 2 H#r




B EH K I HERLREZR

&R - AR RO K (v) B E STLEE ]
15HyE— BiEM@ER, 18-8-40 m 46.8 47
EREBIFAHEKE ¢ 400 m 196.5 196
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SEEER IOy IBE
(FImER) avHy—k
(o ck=18N/mm2)
3 Mﬁ 6. 0%
N - -
= o
3 &
3 3
o R
(BAE B 1ERC-40)
775
825
( 10.0m%=yY )
#® # -} #H =
av o) —F = {1/2%(0.25+0.22) X 0.5+0.16 X 0.275} x 10.0 = 1.615
i) B = (0.25+0.16)x 10.0 = 4.10
® A E ©® = 0.825%100 = 8.25
gEEEILARIL = 0.23%0.01x100 = 0.023
SEEERIOVY = 100 = 0605 = 16.5
Z] ih = 1.615%1/10 0.16




15Hy2— E & A &

- - LR T & g &
NO. 43 + 1074 ~ NO. 4 + 19.03 L
NO. 13 + 10.41 NO. 13 + 16.50 R
NO. 21 + 1460 ~ NO. 21 + 1958 R 7.85
NO. 22 + 1.77 NO. 22 + 6.74 R 7.86
NO. 25 + 1.98 NO. 25 + 7.30 R 7.95
NO. 25 + 9.64 NO. 25 + 14.61 R 7.45
NO. 26 + 10.41 NO. 26 + 15.38 R 7.85
NO. 27 + 0.36 NO. 27 + 533 R 7.86
NO. 32 + 0.46 NO. 32 + 8.14 R
NO. 32 + 11.12 NO. 32 + 19.39 R
NO. 33 + 1201 NO. 33 + 16.97 R
NO. 34 + 800 NO. 34 + 1502 R
NO. 43 + 1.87 NO. 43 + 559 R

8 & 46.82 m
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BEE AN m® [=001 x 0230 x 10 = 0.023
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BRI A OBEKE E R S &

p:(| J=1 L-R T K s &
NO. 42 19.40 NO. 43 + 1094 L HrE iR
NO. 13 16.50 NO. 14 + 1863 R HEMERR
NO. 17 17.50 NO. 21 + 14.60 R 91.73 ATE M ERR
NO. 22 6.74 NO. 25 + 1098 R 51.49 ATEE M ERR
NO. 25 14.61 NO. 26 + 10.41 R 14.03 HrE iR
NO. 27 5.33 NO. 29 + 750 R 39.24 HrE iR
NO. 32 19.39 NO. 33 + 1201 R HrE iR
NO. 34 15.02 NO. 43 + 187 R HEMIERR

=) E 196.49 m
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S
S
PR A
50 255 (BERRERC-40)
305
( 10.0m¥7=Y )
7 :-R v ;| ®H B
SEHBEHER7 Oy @ [ = 100 + 0605 = 16.50
BEE LA m | =0205x 001 x 100 = 0.020
a5y — KM m®| =025 x 016 x 100 = 0.408
m £ & # m?|=016x2x 100 = 3.20
B B E H| m? | = 0305x 100 = 3.05




2 A I E R S &

p:|| =1 R-L £ K " =
NO. 13 + 17.41 NO. 14 + 1863 R
NO. 16 + 1750 NO. 21 + 988 R 102.95
NO. 22 + 8.00 NO. 26 + 11.77 R 8351
NO. 27 + 550 NO. 29 + 750 R 4567
NO. 32 + 17.87 NO. 42 + 1463 R

=) E 23213 m
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BaER
D15060 (BERHBTERC-40)
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250
( 10.0m¥7=Y )
7 :-R v ;| = ®H B
MEHZER7 0y @ [ = 100 + 0605 = 16.50
BEEE LA m | =015 %002 x 100 = 0.03

B " B B m
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R . E &k A=

M R R-L T R i# &
NO. 42 19.40 ~ NO. 43 + 446 L
NO 43 10.74 ~ NO. 44 + 1.78 L
NO 13 1222 ~ NO. 14 + 1863 R
NO 17 1750 ~ NO. 21 + 17.94 R 99.80
NO 22 339 ~ NO. 25 + 527 R 62.08
NO 25 1127 ~ NO. 26 + 13.75 R 2255
NO 27 198 ~ NO. 29 + 10.70 R 48.87
NO 29 16.70 ~ NO. 32 + 6.51 R
NO 32 1274 ~ NO. 33 + 1534 R
NO 34 965 ~ NO. 42 + 12.46 R
NO 42 1881 ~ NO. 43 + 527 R

a8 & 233.30 m




F & Mt — & & ¥ 8 &
FE A1) - 40 A1 RO B{ #HE TEHE B
ERBIBHEEME T
H—K/RA4T | PFE, H=1.1m#EER A% | m 27.80 28
H—KL—JL Gr-B-4E A m




H—F 47 (Pi&

H=1.1m #&:&H)

T E 5 =
=

- =1 R:L T & s &
NO. 42 + 0098 NO. 4 19.03 L
NO. 13 + 13.60 NO. 14 18.63 R
NO. 14 + 1863 NO. 16 14.78 R
NO. 23 + 0.00 NO. 24 7.80 R 27.80
NO. 40 + 1.48 NO. 42 18.86 R

o) B 27.80 m




B E P B = I # & %
n E _
| I | s I BT ¥ 2 AtL¥%E ]
@ | aBa
BEMEREZELT
OV ) —REEEL i3 m 36.00 | 56.00 92. 00 92
S RREREEL t=5cm m. | 136.00 | 310.00 446. 00 446
OB HRALIE
Cosk =7 m° 92. 00 92
AsEk t=5cm m 22.30 22




p B E Y B = I % E 5 & 2
. =1 ||, avy)—rEEL (EH) SR AR L
Al = i} =
il B Br m F oy #H = B m | F 1§ #H = W M OB =
NO. 97 + 19.300
NO. 98 0.700
NO. 99 20. 000
NO. 100 20. 000
NO. 101 20. 000
NO. 102 20. 000
NO. 103 20. 000
NO. 104 20. 000
NO. 104 + 8. 258 8. 258
NO. 105 11.742 0.5 2.2
NO. 106 20. 000 1.0 0.75 15.0 2.4 2.30 46.0
NO. 107 20. 000 0.4 0.70 14.0 2.6 2.50 50.0
NO. 108 20. 000 0.3 0.35 7.0 1.4 2.00 40.0
NO. 108 + 3.370 3.370
NO. 109 16. 630
NO. 110 20. 000
NO. 111 20. 000
NO. 111 + 18.481 18. 481
NO. 112 1.519
NO. 113 20. 000
NO. 114 20. 000
NO. 115 20. 000
NO. 116 20. 000
=) 5 60. 000 m 36.0 p° 136.0 n?




A4 B E W WM £ I # E i 5 =
. =] il & = avyy)—rEEL (FER) SHIERREIE L
i3zl i Br m | F B [i] ¥ B = =
NO. 96 +
NO. 97 6. 700
NO. 98 20. 000
NO. 99 20. 000
NO. 100 20. 000
NO. 101 20. 000
NO. 102 20. 000
NO. 103 20. 000
NO. 104 20. 000
NO. 104 + 8. 258
NO. 105 11.742
NO. 106 20. 000
NO. 107 20. 000
NO. 108 20. 000 0.8 2.2
NO. 108 + 3.370 0.8 0.80 4.7 3.45 11.6
NO. 109 16. 630 0.40 2.35 39.1
NO. 110 20. 000 2.7 1.35 27.0
NO. 111 20. 000 1.8 0.90 1.7 5.20 104.0
NO. 111 + 18. 481 0.5 1.15 2.7 5.20 96. 1
NO. 112 1.519 0.6 0.55 2.8 2.75 4.2
NO. 112 + 10. 000 0.7 0.65 2.8 2.80 28.0
NO. 113 10. 000
NO. 114 20. 000
NO. 115 20. 000
=) 5 90. 000 m 310. 0 m?




Mt ERIBELRER

NO.22+7.1 | NO.22+0.6 | NO.25+8.6 [NO.26+17.3|NO.29+12.5|NO.36+10.9
L e B 10 ® ®) R ®) ®)
PR1E T me = =
BR D& me - -
hEE T m® - -
I % 1
a9 )—k o ck=18N/mm2 m> - -
EmEEIF (T m? = =
& EiFayy)—-+
a9 —k| o ck=18N/mm?2 m° 0.13 -
Eilp oA m? 1.44 -
TAI7ILNEE | KRB m? 4.20 15.0
PRz m? 4.20 -
RiELT
FRAI7ILREEEL || m? 4.20 -
FRAI7ILERILE| m® 0.21 -
avHy)—rEEL || me - -
AV —bRARER || m° - -
4S5 RIKEE
a9 )—k| o ck=18N/mm2 m>
Eilp e m?
EHEH m?
B ih m?
15LEKEE
a9 )—k| o ck=18N/mm2 m>
Eilp e m?
EHER m?
B ih m?




H{TERE  NO.25+8.6(R) HEHEHES
o |:- R v = #H B
= Fifars)—k
avy)—k m® |Bl#ESHEE 0.13
B 2 m? 1.44
FRAI7 L
= B m?> |TFEREY 4.2
B g m? 7 4.2
ERLT
FRAI7ILLEUEL| m? |TFEREKY 4.2
FRI7LMLIEE [ % | =42x005 0.21




& EIFary)—k HEHEHES
RS R
( 1.0xXH=Y )
7 :-R v ;| = ®H B
EHES(A) m | =1/2%(0.0+0.139) 0.070
()| m | =1/2x(0.0+0.139) 0.070
3> 42 1) — KM m® | =(0070%0.30+0.10 X 0.10) X (2.59+1.65) 0.131
i) ¥ m? | =(0.070+0.10) X (2.59+1.65) X 2 1.44




